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Section 1 - General Knowledge

1) Which of the following sources of renewable 1) Meferfad # & fohe TR ST &1 o SAvd =40
energy uses heat from magmawithin the earth to heat T ¥ T3 T TTATSH T FATH 6 (oI ATST TATH g T

homes or produce steam that turns turbines? & fTaT 3 BT T ST FTITT AT E ?
A) Wind power A) T3 9Tf<F

B) Hydro power B) gT=ST utax

C) Biomass energy C) I ITHTH FHeft

D) Geothermal energy D) g-aTdi= &=t

2) The river Indus originates in the northern slopes of 2) g &t FT I fsad § FATY TGd F@AT & I

the Kailash range in Tibet near FATAT | e g g2
A) Dal Lake A) = HreT

B) Wullar Lake B) g =it

C) Surinsar Lake C) gva< 1

D) Manasarovar Lake D) gTaErET e

3) During the reign of Ashoka, under the Mauryan 3) ®T¥ 9TH® & Tgd AN & ATHAGRIA § FZcaqur
administration, one of the terms used for important STfEFTRAT % o7 Z7H & 19 AT 958 TEAATH 2rdT AT?

officials was

A) Dabirs A) =Tfax

B) Majumdars B) (A=Y

C) a¥aTe

D) T

C) Sardars
D) Rajukas
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4) How many number of Union Territories are there in 4) 319 2018 T ATXA | {oha= Tva-ITTerd TR 8?2
India as of April 20187

A) 10 A) 10
B) 7 B) 7
C)8 C)8
D) 6 D)6

5) According to Article 25 of the Indian Constitution, 5) ST HfaeT™ & s =se 25 & A9, "Bg" oo
reference to "Hindus" shall be construed as including % #=s¥ & arey a1 fAeferfera § @ i fr o 3 ST =t

a reference to persons professing the oo R T Y ?
(i) Sikh religion (i) Forg e+

(ii) Jain religion (ii) ST &

(iii) Buddhist religion (iii) aTF g

A) (i) and (iii) only A) F= (i) 3 (i)
B) (i), (ii) and (i) B) (i), (ii) =M (iii)
C) (i) and (ii) only C) Fa (i) 3 (ii)
D) (i) and (iii) only D) & (ii) 3 (i)

6) At the National Film Awards 2018, Dada Saheb 6) TTg1T fiheq TX&R1¥ 2018 H, QT ATEH Fosh TERIT

Phalke Award was posthumously awarded to ot fRer e T o
A) Pran Krishan Sikand A) ITIT Fo0T e

B) Dev Anand B) <& sHw

C) Manna Dey C)m=ar®

D) Vinod Khanna D) fare ==
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7) Space Applications Centre (SAC) is located in 7) ¥ TwiTeherd H2< (SAC) wia & fMwferfaa & & &

which of the following cities of India?
A) Ahmedabad

B) Bangalore

C) Mumbai

D) Vishakhapatnam

e H I g?

A) FEHETATR
B) #A

C) qae
D) fasrmaragaH

8) Arsene Wenger quit which of the following football 8) =IT#= 3 7 MHferera & & fore Feaie Faa &l FIeT
clubs as their most decorated manager, the club TS a7 T =aTq #9eX W2 o T S F 32+ 1996 #

where he joined in 19967
A) AS Monaco FC

B) Athletic Club

C) Arsenal FC

D) Arlesey Athletic FC

SCIECRE DRIV

A) AS HT==T FC

B) UdIfea FoAa

C) sm&Eaar FC

D) sreret werfes® FC

9) The first printing press in India was established by 9) 9T ® Tgeft FHfET 7 it TITa=T foheeh 31T g2 =12

A) British
B) Dutch
C) Portuguese
D) French

A) fafeer
B) =%

C) et
D) 3=

10) Prohibition of discrimination on grounds of 10) &%, 3er, ST, foRT AT ¥ T F AT T ATATS
religion, race, caste, sex or place of birth is classified # e &1 forer Hifor stfere & dga avfisgd AT T

under which Fundamental Right?
A) Right to Equality

B) Right to Freedom

C) Right to Life

D) Right against Exploitation

g?

A) THTHAT T ATAFHTT
B) T&d=dT & ATERT
OEIECEIEICEIRS

D) emruor 3 fag stfersme
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Section 2 - Logical Reasoning

11) What is the next term in the given series?
The series is 180, 540, 1620, ?

A) 4640
B) 4860
C) 3660
D) 3240

11) < TS J@AT | SRTAT H&AT FIT 872
e §: 180, 540, 1620, ?

A) 4640

B) 4860

C) 3660

D) 3240

12) The number of diagonals in a regular polygon with 12) 5 STl aTel Tah THSTHIVIT agst § FaFwort 0

number of sides 5 is
A)5
B) 8
C)7
D)3

Hee fraer 87
A) 5
B) 8
C)7
D) 3

13) Select the option that will make the second pair 13) 30 fa&ed FT =T FL ST L SATET FHT TgAT SIS

analogous to the first pair.
Start : End :: ? : Hostile

A) Rich
B) Poor
C) Amicable
D) Unfriendly

F THET TATUA
QIESTT : FHTIH 2 2 : QEaTIor
A) &=t

B)

C) "reTat

D) srfr=raroet


Sunny
Sticky Note
None set by Sunny

Sunny
Sticky Note
MigrationNone set by Sunny

Sunny
Sticky Note
Unmarked set by Sunny

Sunny
Sticky Note
None set by Sunny

Sunny
Sticky Note
MigrationNone set by Sunny

Sunny
Sticky Note
Unmarked set by Sunny

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

14) A pair of numbers are given in every option, where 14) Jea farsheT | Hw&aTsii it U SIET &1 TS g, S §
the second number in the pair is related to the first T H&AT, gt AT H UH GTH q<leh & HaT1ed gl TR

one in a certain way. Find the odd pair. . | SIETT SITET 3T ity
A) 728:116 A) 728:116

B) 194:98 B) 194:98

C) 255:54 C) 255:54

D) 323:22 D) 323:22

15) If Veena says, “Anju’s mother is the only daughter 15) 3WT¥ AT Fgdl g, "3 &t ATAT AL A7 Torft &t
of my Mother-in-law Rajshri”, then how is Anju related Zaetdt =it 8" @1 T 357 &1 =T & 7797 fear g2

to Veena?

A) Niece A) st
B) Daughter B) Tt
C) Mother C) |rar
D) Aunt D) ==t

16) Three out of four words given below belong to 16) == faw 77 =¥ ersat § & o= U= 21 9ot g1 T78%

same category. Find the odd one out. T T STa FfoT |
A) Church A) ==

B) Clinic B) FeAITa®

C) Mosque C) Al

D) Temple D) =¥t
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17) Pointing to a woman, Shankar said, "She is my 17) T HTgAT T 3T TATI FLd gU AHT 7 Fgl, "ag 7
mother’s daughter". How is Shankar related to that ATAT T =T 8"l 95T 39 AigaT & Fohe wohTe Hafaa g2

woman?
A) Aunt
B) Brother
C) Son

D) Sister

18) The cost price of each article was Rs. 1040 and

the selling price of each article was Rs. 1380. If the

A) =TT
B) e
C)T

D) &2

18) T FE AT AN ToF &.1040 AT 37T T4 Toq M
ot o7 %.1380 =T Ffe s1foiq Ff @1 %.7820 AT, ar

total profit earned was Rs. 7820, then the number of =T T a&q3T it HE&AT FIT 8?2

articles sold is
A) 19
B) 31
C) 37
D) 23

19) What is the next term in the given series?
The series is 64, 32, 96, 48, 144, ?

A) 156

B) 52

C)72

D) 196

A) 19
B) 31
C) 37
D) 23

19) T < H@AT | SWTAT HEAT FAT 5?2
qET 2. 64, 32, 96, 48, 144, ?

A) 156

B) 52

C) 72

D) 196
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20) Neha sells her car for ¥ 45,000. She bought that 20) 72T 7 3T9+T 1T ¥ 45,000 ¥ o= &1 I I F1L H
car for ¥ 50,000. The percentage of loss incurred is % 50,000 H GXI&T AT| TFAT T T(q27T FAT 572
A) 5%

A) 5%

B) 2% B) 2%

C) 10% C) 10%
D) 3%

D) 3%
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Section 3 - General English and Comprehension

21) Identify the synonym for the word —

24) Identify the part of the sentence that has an
Concurrent

error:

A) Electrified The drink was served to the guest for the party.

B) Flowing A) for the party
C) Simultaneous B) The drink
D) Similar C) was served

D) to the guest

22) Choose the meaning of the italicized idiom

used in the given sentence. 25) Choose the correct word substitute for the

He is keeping his fingers on the pulse of the following sentence:

market as he has invested heavily in the stock A person who shows excessive fondness for his

market. wife.

A) A follower A) Deacon
B) Aware of the ups and downs B) Uxorious
C) Being careful of the options C) Eunuch

D) An observer D) Ubiquitous

23) Identify the Antonym for the word - Impress
A) Discourage

B) Decline

C) Propose

D) Annoy
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Section 4 - General Hindi

26) H AUAT FIL o ST QT g1’ I AT § Hd AT
qIATH 52

A) TETETHF
B) fAstam=
C) gaeara+

D) feaar=+

27) ‘ATTHT T gIAHE grdt gl o4 & forw 3=
FATRTR AT -

A) =T FT T ST 21T
B) fora oft adt we oft 941
C) U=t T gt BT 77r
D) S § @A I H 8%

28) fArfertaa fasedt & &I |1 qev 2o dgi 62
A=
B) T
C)w
D) st

29) TRITEH JeRTET FATaT g1’ I a1 § I &7
T Td 82

A) FeRTTEY

B) =eTrdT

C) T aH

D) &

30) fRerferfra arsat & wHer: ggr wEiarat g —

A) aor, e efiT, 7t

B) &I, &aIT, 52t

C) farefr®, ue=H, FeaTuir
D) 91%, WATHY, TaTeRt
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Section 5 - Basic knowledge of Computer

31) Which type of cookies is mainly used by online 31) siHaTET THAT G & &9 T e THIT AT Fohie

shops?

A) Session Cookies

B) Permanent Cookies
C) Third-Party Cookies
D) Second-Party Cookies

32) Which of the following protocols are used in an
email communication?

l. SMTP
Il. IMAP
. FTP

A) Il and Il only
B) Iand Il only
C) I, Iand lii

D) I and Il only

T STTNT AT ATAT 872
A) T TR

B) wwide Fhie

C) I=-qTel Fohrel

D) &FE-qTeT Fehlst

32) fwferfeaa & & & a1 SWeraier SH H99o & ST
AT STaT 872

l. SMTP

. IMAP

. FTP

A) Fae |l =<l

B) e | izl

C) I, Il =

D) Faer | szl

33) In Windows XP, which of the following servicesis 33) fA=siXP &, 7% # & forgy a1 freew g gl 91T

not considered as system tools?
A) Antivirus

B) Disk Cleanup

C) System Restore

D) Disk Defragmenter

STaT g?

A) TEEaTITE

B) & FefaarT
C) freew e

D) fe&=r SohHex
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34) What is the minimum bandwidth of Manchester 34) #H=Fe< 3T RHITATT A== TR il FAqH

and differential Manchester encoding?
A) Same as that of NRZ

B) 2 Times that of NRZ

C) 1.5 Times that of NRZ

D) 3 Times that of NRZ

35) Which type of malicious software destroys the
PC when certain conditions are met?

A) Logic Bomb
B) Trojan horse
C) Back Doors

D) Rabbit

defagT FTE?
A) NRZ & qHTH
B) NRZ T AT
C) NRZ #T g AT

D) NRZ T favAT

35) o & & o et T ot At FE (e o
T 2 9T PC HI AL FT IqAT8?

NIRRT R

B) g5 grd

C) I =+

D) ¥fa=

36) Which of the following is the most popular bit
oriented framing protocol?

A) ARP
B) HDLC
C) RARP
D) PPP

36) MHfea & & #9971 qa9 A oo arivues
T SIE i 872

A) ARP

B) HDLC

C) RARP

D) PPP

37) Which of the following Microsoft tools should be 37) & & & FIT AT ATSHIEIFE T STAATHE HAAAL

running during Dynamic Malware Analysis and it can T[T 3 IH FATET ATRY 3T T ®T FAferd TOHRAT il
also be used to monitor the running process status? 2t it @iz v & forg ff Iw=eT foFaT i JaraT 82

A) Ransomware

A) TEHRAIT
B) Scareware B) wFaveaT
C) Procmon C) Ir&HT

D) Process Explorer

D) SE® TFIATIT
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38) Which is the file extension used for MS Word 97 38) MS @< 97 & 2003 @ # S(&gHe HISA & [T &l

to 2003 document file?
A) .accdb

B) .xIs

C) .doc

D) .ppt

AT HIEA TFL T AN 3T SITaT 872
A) .accdb

B) .xlIs

C) .doc

D) .ppt

39) Which among the following is a popular relational 39) AT=FE Fe TS Afu= e freew & forw stfserfouq

database management system designed
Microsoft Windows Operating System?

A) MS Excel

B) MS Access

C) MS Word

D) MS Powerpoint

for ATHRIYT HATIF AHST T THIT TUTSAT (ST

ooz ) R g a w1 82
A) MS TaEw

B) MS U=+

C) MS=E

D) MS gra<diz=e

40) Which of the following file extensions is used for 40) MS wawufzz 2007 * o0 =@® & Hiw 4T

MS PowerPoint 20077
A) .pptx

B) .docx

C) .accdb

D) .xlsx

IS UHEE ST W< (T Srar 87
A) .pptx

B) .docx

C) .accdb

D) .xIsx

41) Which one of the following is a field in an email 41) SHTAATH g F19 T Heg & TS AT IH HAS *
message where we type the email address of STHHAT & 5-HA USH TSI T &7

the recipient of a message?
A) Message Body

B) From

C)To

D) Subject line

A) FasT it
B) |

C)z

SN

D) Testee ATeH
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42) In MS Office, what is the keyboard shortcut for 42) MS tifee #, g’ sttave  forw FaE afese 71

'Redo' operation?
A) CTRL+R
B) CTRL+ X
C)CTRL+Z
D) CTRL+Y

29

A) CTRL+R
B) CTRL + X
C)CTRL+Z
D) CTRL+Y

43) How can we open 'WordArt' option in MS Excel 43) MS Ta8< 2007 § 'a€3re ' fase &1 foh wehre @it

20077

A) Data-->WordArt
B) Insert --> WordArt
C) File-->WordArt

D) View-->WordArt

GET RN

A) T2T--> FEATE
B) THIC --> ASATE
C) ®TEA--> ST
D) =--> FZTE

44) Which of the following are the drawbacks of Batch 44) fasferfaa & & %17 a1 3= strofew freew =1 it

Operating System?

I. Lack of interaction between the user and job.
IIl. CPUis often idle.

lll. Difficult to provide the desired priority.
A) I'and Il only

B) Il and Ill only
C) land Il only
D) I, I and lII

g?
. SYRTHAT ST ST o o= 7R =1 ersren
Il. CPU 3T [Tt 2raT 2l

. STfera ST haT T&TH HTAT HiSA grar gl
A) Fae | Tl

B) e Il s |l
C) Faer | il
D) I, Il sf=
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45) What is the shortcut key for increasing the font 45) MS € § i+ SATHTT FETH ATAT TTEHe T i €T g2
sizein MS Word?

A) Ctrl+} A) Ctrl+}
B) Ctrl+] B) Ctrl+]
C) Ctrl+[ C) Ctrl+[
D) Ctri+{ D) Ctrl+{

46) Which of the following is an operating system?  46) [t & & &9 |71 U siraefew freeq g2

A) Adobe Reader A) s=Ta f=%
B) Microsoft Word B) ATSHIAITE a€
C) Microsoft Excel C) OTSHII 9 UFao
D) Microsoft Windows XP D) ATEsE %e fawere XP
47) What does DSU stand for in WAN? 47) WAN & DSU T 0T &7 FI7 72
A) Digital Subscriber Unit A) eRres geamrza IfHe
B) Demarcation Subscriber Unit B) STHTLHI HeamIzar q(He
C) Distribution Service Unit C) Rxr=gam afdw Ifve
D) Data Service Unit D) sTeT &faw If°e

48) How many Function keys are available in a 48) ATHT FFgeT Hlale # [ha«l T i Il Il

regular computer keyboard? a7

A) 10 A) 10
B) 14 B) 14
C) 12 C) 12
D) 11

D) 11
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49) The shortcut key to select all the contents of aMS  49) MS % StFgHz & THT Fe F HoIFe FIA & (1T,
Word document is o arfesha T T ST FohaT SITaT 72

A) Alt + A

A) Alt + A

B) ALT + DEL + A B) ALT + DEL + A

C) Ctrl + A C) Ctrl + A

D) Ctrl + Alt + A D) Ctrl + Alt + A

50) Which of the following devices can produce the 50) fAsferfaa & & wi a1 fRaTsH, A9 ZIT TIRT F
final product of machine processing into a form FT°F &7 & wft STHETET & sifaw giese i Seufy #:7

usable by humans? AT &2

A) Memory devices A) FaT fearew
B) Output devices B) smseTe fearzH
C) Input devices C) =Tz fearew

D) Processing devices D) sia T fearza
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Section 6 - Civil Engineering

51) Concentric closed contours with increasing 51) Hehfrad Had TR@TSAT (F2X) FT, % hl AL TZAT gl

values towards the centre usually indicates a
A) Hill

B) Plain ground

C) Valley

D) Pond

HTH, ATH AL 9% F97 IAqTaT 2
A) T5q

B) &Hde s

C) =Tét

D) aTeTa

52) The initial strength acquired by cement is 52) ®Hz T YT &t T2 @Al Togdl A& &9 &

primarily due to setting of
A) Tri-calcium aluminate
B) Di-calcium silicate
C) Tri-calcium silicate

D) Tetra calcium alumino ferrite

e afafRurfy @fET) F a2
A) ZTE-FHiceraw Teg e

B) =TE-Ffceaaw fferhe

C) gre-Ffeeraw faforre

D) 22T Sfceras TegHEr wirse

53) The radius of a horizontal circular curveis 120 m, 53) T# &fas FAHTL T AT FHAT 120 m g, =¥ B
and the design speed is 50 kmph. What will be the &g 50 km 9T =5 gl IS Fls U U@ T2 Tl
approximate value of the coefficient of friction =T STTAT & T =TT HT ATHTIAT AT FATERIT?

required if no super elevation is provided?
A) 0.25

B) 0.18
C) 0.16
D) 0.19

A) 0.25
B) 0.18
C)0.16
D) 0.19
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54) As per IS:456- 2000, if the nominal shear stress 54) IS:456- 2000 ¥ STETY, T ATHHTH TTET T
exceeds the allowable shear stress, then TR AT JTqad & (T g, qv

A) side face reinforcement shall be provided A) FTSE T ST T&T R st

B) main longitudinal reinforcement shall be provided B) H&T si<ed Ya@« J&TH [ohAT ST

C) minimum reinforcement in the compressionzone ~ C) T8 FT &S % |11 HETEA &1 § FLATH Tel T2
along the length of beam shall be provided ERLEILS

. . _ D) ToTE & ®9 H IS AT &I (AT ST
D) shear reinforcement in the form of stirrups shall

be provided

55) As per 1S:383 (1970), the maximum limit of 55) IS:383 (1970) = STHTY, e+ (=) #agi &
aggregate crushing value for aggregates used in STATAT Fhie | SIH UINEH & (o10 UIATE HIRT a7 Fr

concrete other than wearing surfaces should be Fferspam Hgr

A) 20% by weight A) AT #FT 20% BT AT T
B) 45% by weight B) AT #T 45% BI<1 ATgU
C) 15% by weight C) 9T #T 15% BT ATRT
D) 30% by weight D) ATZ #it 30% BT ATT

56) The horizontal distance between two consecutive 56) FHTITT &1 HHIF T@T (FET) & S T ST ToT LT I F4T
contours is termed as

FET ATAT 872
A) Vertical Equivalent A) AT AT
B) Horizontal Equivalent B) &fast awqed

C) Vertical Contour C) IeAtgT &gy

D) Horizontal Contour D) &fast &gy
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57) The total area sown under various crops during 57) I¥ FfT a9 & 1 (AT FaAl % dgd ars T FoT
the whole agricultural year counting the area as many T &5 T, 3§ W 9% ITAT TS FHAT il HEIT & AT
times as the number of crops grown on the same T¥ 3T FHT &= FT FT ATT TUMT FIA FT ATHATL IT FAT

land is generally known as
A) Gross Cropped Area
B) Net Crop Area

C) Gross Command Area

D) Cultivated Command Area

58) For checking the vertical deflection in simply
supported R.C.C beams with span up to 10 m, the

basic value of span to effective depth ratio as per
IS:456-2000 shall be

A) 13
B) 20
C) 26
D)7

FET STAT 572

A) 19 Free Ui
B) 7 &iq uiAT
C) It FHie ThAr

D) wfezaes wate Ui

58) 10 m @ & &« arar ey gaiee R.C.C iy &
Seatay g (FEwa Rwemed) & S=9 F o,
1S:456-2000 * SATATT T & AT TS (SHFT To)
ST T A T ThaAT gRIT?

A) 13

B) 20

C) 26

D)7

59) Alkalinity in water is expressed as milligrams per 59) ST #iI &T=ar & fAwfofag # & s T9qey

litre in terms equivalent to
A) Magnesium carbonate
B) Calcium carbonate
C) Calcium hydroxide

D) Sodium carbonate

farferms i sfiev % =9 § =<k AT Srar 272

A) R FraiEe

B) sfeqaw Fraive

C) Ffcaaw gregiFams
D EUEREEIEIRE:
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60) While dimensioning for an Engineering Drawing, 60) T# ISifeafar e & foro sTasertHr #ead 90,

which methods or ways of arrangement

dimensions are usually followed?

A) Parallel, continuous and combined

B) Perpendicular, continuous and combined
C) Perpendicular, parallel and continuous

D) Perpendicular, parallel and combined

61) Shear Modulus of mild steel is
A) 0.785 x 10° MPa

B) 0.650 x 1068 MPa
C) 0.850 x 105 MPa
D) 0.580 x 108 MPa

of TTAHA Tl FATEAT Fe % forg i 7 fatemt am adent

FT ATHA F SATHA AT SATAT 3?2
A) T, FEGHAT AT FHATES
B) U, HEIgad T Farse
C) 7%, ITeret 3T FHetegare
D) wifRet?, IRae s Farse

61) FEH TEATA HT TTEI 0T Tha=T Zrar g2
A) 0.785 x 10° MPa

B) 0.650 x 106 MPa
C) 0.850 x 10° MPa
D) 0.580 x 106 MPa

62) According to WHO (1984) and Indian Standard for 62) WHO (1984) sl o wzs T arex
Drinking Water Specification 1991, the maximum TIEIfHRas 1991 F A, UF S | FTANRISE &l

permissible limit for fluoride in drinking water is
A) 0.1 mg/litre

B) 5.0 mgl/litre
C) 1.5 mgl/litre
D) 10 mgl/litre

e =g FaT
A) 0.1 mgl/litre
B) 5.0 mgl/litre
C) 1.5 mgl/litre
D) 10 mgl/litre

63) While analyzing the stresses for a structural 63) T# HXAATHS A1H & forw Wiaa«r (V&) w1 @gfua

beam, the bending stress is zero at the

A) neutral layer

B) at a layer between centroid and neutral layer
C) away from centroid

D) extreme layer

FXd T, Fad ATaa (AT &) F9 § T Fgl 7 T

RIATE?

A) T TIT X

B) A2z 3ii¥ =g oA 1+ U Tq I
C)Fah 8 g7
D) sifay meq 9%
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64) Los Angeles testing machine is generally used to 64) =i\ Ustferer =¥ Tofi= &1 IUFRT w7 foverer form

conduct

A) Attrition Teston stones
B) Impact Test on stones
C) Abrasion Test on stones

D) Crushing Value Test on stones

T STaT 87

A) T 9T UIE9M owe & forg
B) e U¥ TFIFE 2 & oI
C) T3 U U9 25 o forw

D) weerei U R 3oy 2 & for

65) Generally, a Hydrograph is a graphical 65) WA 9T TESRTE A9 § F T v arhey

representation of:
A) Evaporation of a stream as a function of time

B) Discharge of a stream as a function of
temperature

C) Evaporation of a stream as a function of
temperature

D) Discharge of a stream as a function of time

66) A device or structure to be placed in a surface
water source to permit the withdrawal of water is
generally known as

A) Inward pit
B) Intake structure
C) Air structure

D) Isolation valve

STEATAE graT g7

A) THT T THTH &% F9 | 4T A7 TG00
B) aTIHTH o WohTd & &9 § 7ot &7 e
C) ATIHTH & THTH o &7 | F&T HT ATSITHT
D) IR % YohTH o & § T4l 7 T

66) ITHT & & &t AT & % o uF IuEr ar
HYFAT T Fdel 9 | § T@T AT g o ord 1 9%
T gl SATAT 872

A) TS e

B) e Tz
C) Ta¥ TF

D EEGIENEEIEC]
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67) Which among the following instruments of 67) @aeToT & AEforfad SUHT § & FoRaaRt STTT TRl
surveying can be used for reducing, enlarging or & HTHTT €9 § FH F¥d, T AT I T e % o0

reproducing the plans in general?
A) Clinometer

B) Ceylon Ghat Tracer

C) Planimeter

D) Eidograph

S AT ST JhdT 8?2
A) FAAHIET

B) I+ 5e Ta%
)
)

)

AT
ATSTH

)

68) As per standard cement consumption, the 68) HIHz it HTHE @UT & AL, 1: 2 : 4 & A(THAA
number of cement bags required for 1 m3of 1: 2: 4 hie 7 F 1 m3 & forw sraeas Hidz TR g e:

nominal concrete mix is approximately

(Given: water cement ratio= 0.45)
A) 9 bags
B) 8 bags
C) 4 bags
D) 6 bags

(Feam T &2 9T i € 7 stara= 0.45)

A) 9 &
B) 8 T
C) 445w
D) 6 &

69) When the natural deposit of a cohesion-less soil 69) ST& TF HHST-IRd (HE T T THTaHh dASe AT+ T T
is in its densest state, the relative density (Density =1 TErTd & St &, a1 THET 7 ATU oca (T A1)

Index) of the soil will be
A) 20%

B) 40%

C) 0%

D) 100%

fRaaT gr?
A) 20%

B) 40%

C) 0%

D) 100%
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70) Turpentine oil is used in paints as a
A) Drier

B) Anti-skinning agent

C) Resin

D) Thinner

GET IT ON
Google Play
70) YeH | I FT d [ &9 H TI<H AT SATaT 872
A) I
B) TaT-feamf usie
C) ¥
D) fare

71) As per 1S:800-2007, all the bolts used in frames 71) 1S:800-2007 ¥ STHTT, YT % AT FHl U & o7
designed to resist earthquake load shall be fully RFE" fFu 0 %7 & yq AT TFeed T =
tensioned HSFG bolts and fitted bolts. What is the full & T+ I HSFG aTeed 3fi¥ fthee ateed g1l HSFG &1

form of HSFG?

A) High Stiffened Friction Grip
B) High Strength Friction Grip
C) Hot Steel Friction Grip

D) High Strength Force Grip

T =T FAT?

A) gTE ®ee e R
B) gTs & fheer R
C) gie i e R
D) 8% &1 wiH {9

72) For lettering type A, the height (h) is divided into 72) =TT A &I ATHeTad ¥ & o0, S=T% (h) T R

how many equal parts?
A) 12
B) 20
C) 25
D) 14

e fBE § FieT Srav 8?2
A) 12
B) 20
C) 25
D) 14

73) As per IS soil classification, inorganic silts and 73) IS H&T afTHL0T & AHATY, Tgd wF Adreadr AT
very fine sands with low compressibility or plasticity TT{EeahaT aTet ST T3 T TgA &7 I (AH et

are represented by the symbol
A) OL
B) ML
C)CH
D) MH

3 3 Firer Foreet  zorfo w22
A) OL
B) ML
C) CH
D) MH
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74) Concentric closed contour lines of decreasing 74) Hefrad H9d GHIg W@T (FgT ATSAT) T, Hx il AT

value towards their centre, usually represent a
A) Hill

B) Riverbed

C) Cliff

D) Depression

AT AT |, ST T T2 FT 90T 572
A) TETE

B) =&Y T qeT

C) @St =g

D) gt

75) An economical good quality of concrete is 75) 3H X U Tl i =l AT AT Fohle

generally achieved by using a mix of
A) coarse aggregates only

B) aggregates of two sizes only

C) well-graded aggregates

D) single sized aggregates

o FHoT T ST ek It il STt 872
A) Fa FIE TRATE gIT

B) #ad &l AT & TRAE GIT

C) a9-U<T THRIE ZIT

D) Tael 3THTE o TR 51T

76) According to depreciation method of valuation, 76) TeATE HT TeAGTH AT F SATHATL, WA [ fohad

the building should be divided into
A) 8 parts

B) 12 parts

C) 4 parts

D) 3 parts

STt & FrarRm frm ST =
A) 8 ST

B) 12 s

C) 4 9TT

D) 3 T

77) As per IS: 800-2007, if I is the distance between 77) IS: 800-2007  HTY, ITT |, T&T HFT & Aaaq
the innermost connecting lines of rivets or welds Feeree a1 Jegd fiT qad Ao wfFT areat & <=/

perpendicular to the main member, then the thickness

of the battens 't' shall NOT be less than
A) 1,/20

B) I,/30
C) 3(1,/20)
D) I,/50

T 7, T Jew 't & /12T 390 o Fhed 7 T2l gt ?

A) 1,/20
B) I,/30
C) 3(1+/20)
D) 1/50
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78) Match the Type of Surveys in List-l with their 78) H=t-1 # &7 7T TG0 % T &I, TAI-Il § TF

corresponding Instruments Used in List-Il.

List- Il (Instrument

List- | (Type of Surve
(Typ Y) Used)

Chain and Compass

a. 1. Alidade
Survey

b. Plane Table Survey 2. Arrow

Transit Vernier
c. |Hydrographic Survey 3. )
Theodolite

d. Tacheometry 4. Sounding Rod

A) a-2, b-3, c-4, d-1
B) a-3, b-1, c-4,d-2
C) a-2, b-1, c-4,d-3
D) a-4, b-1, c-3,d-2

Sh A=Al SUFHT o A7 e #:74)

A1 @ % ¥ | [T (T ST
a|FT G FE adaw | 1|TEiEE
b.| w7 Zae ga@or 2|TTr
d.|z=EEer 4lamsErdE

A) a-2, b-3, c-4, d-1
B) a-3, b-1, c-4,d-2
C) a-2, b-1, c-4,d-3
D) a-4, b-1, ¢-3,d-2

79) When the section is subjected to axial pull or push 79) S/ forelt T#e &7, stefiar [E=ma a7 Tama & e
acting normally across the section the stress so fFaT AT g, T TEEaA®T T FEAT ¢, T THIT

produced is generally known as
A) Ultimate Stress

B) Direct Stress

C) Temperature Stress

D) Shear Stress

q ITIF Ifdae &l AT 2 6 A9 & ST 171 82
A) S THE T

B) STaaE & &
C) THI=T &
D) forw &
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80) The regulatory or mandatory sign known as "Give 80) f=mw =T sifeama T o/ "frar " o &7 § ST
Way" is represented using which of the following ITaT 8, fMeferera & & fohe straT &7 SUFRT Fdeh ATAT

shapes? STaT g?

A) T- shape A) T- 3THTT
B) Rectangular B) straqrstT
C) Circular C) gTehtT
D) Triangular D)REEIRIEALS

81) In absence of a detailed drawing for the 81) =\ & Yaetiaheor & for foega s T srqufeata ,

reinforcement of a beam, the percentage of steel THIIEH & & T & ATTAT FTHT ZT THAT &
may approximately be taken as

A) 0.5 to 0.8% of volume of concrete A) Fehte FT AT HRT 0.5 7 0.8%
B) 1.0 to 2.0% of volume of concrete B) #shie I ATATHT 1.0 & 2.0%
C) 3.0 to 5.0% of volume of concrete C) @shie T ATAT &1 3.0 & 5.0%
D) 6.0 to 8.0% of volume of concrete D) shie T ATAT#T 6.0 & 8.0%

82) Generally, which of the following is NOT amethod 82) 3T¥ T U<, HTH #shie STl | LI & (Ha=0T & forw
employed for the control of cracks in mass concrete F = ferferd & & i = fAter AgT roATAY SAT<AT 22

dams?

A) Pre-heating of concrete A) ahie FT W-giteT
B) Restricting the height of lift to approximately B) foree &t =TS TR 1.5 m T TTT F2AT
about 1.5 m

C) hie i qree FHfci
C) Post cooling of concrete

D) 3@ a0 9T HF=d SIE (Fre a0 A5ed) Tq
D) Providing contraction joints at suitable spacings AT
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83) The most economical section of a rectangular 83) T STIATHRTT ==t T T FFEIAAT @ g AT
channel is one which has hydraulic mean depth or SEH grEgiiers WTeq Tgars AT Bregitors Hear fheeh

hydraulic radius equal to: I BT 872

A) Half the breadth of flow A) JATE #T ATSTS & AT
B) Half the depth of flow B) WaTg i Tgrs T e
C) Twice the breadth of flow C) waTg T ATETS HT AT
D) Twice the depth of flow D) YaTg it TETE FT AT

84) A two-way continuous slab with mild steel 84) F¥H TEITA TACATHIIT o AT I[-TLHT e (VL6 AT |
reinforcement is having a span of 3m and aload of 2 3 m &1 9 3T 2 kN/m?2 FT AT g1 IS: 456-2000 *

kN/m2. As per IS: 456-2000, generally the span to SHTY, TH 1Y X TH & & (10 Hearg faeraor #1Hr
overall depth ratio to satisfy the vertical deflection limit =t qfet % 3 forw &0 & srazsirer 2o Sara a1 |/

for this slab is assumed as STaT g?
A) 10 A) 10
B) 7 B) 7
C) 20 C) 20

D) 40 D) 40
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85) Which of the following statements is FALSE about 85) fsrferfera & & &t a1 e foreft f3rorw srgzar e &
the factors affecting the rate of demand of water WTHT T ST T T T T TATIAT FT AT FTHT &

supply in a particular city or area?
A) Generally, the demand of water is more in

summer and less in winter

B) If the distribution pressure is very high, the water

consumption will be more

C)In a continuous system of supply, the

consumption of water is less and there is no
chance of misuse or wastage of water
D) If the water tax is implemented by providing water

meter, then the consumption of water will be
generally less

86) A condition of flow in which various quantities
such as velocity components and pressure shows
a random variation with time and space in such a way
that the statistical average of those quantities can be

quantitatively expressed is generally known as
A) Statistical Flow

B) Turbulent Flow

C) Laminar Flow

D) Dynamic Flow

87) The separation of water from the concrete mix

I H AT 8?2

A) A\ AT 9T, THT | Gt i G AfeF g g oS
afeai K FH AT

B) =fs faa=or gama agd stfers 8, a7 ur=t ¥ wuq stfers
Gl

C) srfe it fAZae woreft &, a1t it =vd 7 gt g oY
T T GEIART AT ATTT FT KIS RIHT A6l 2T g

D) A% ATt A1 #IeT F&T FZeh qTT 9% FT AT fom
STAT 8, AT AT T G A7 q1C I FF g

86) YaTg (FAT) T 3T R T srAd e u% F4T FEl ATar
g o fAtse afETor S 397 e 37 g9, 997§}

BT & AT AT (=T 26 Y | feardt g, & sq
TTITOTT T FTTETh T e HTATCHE &9 F 2<h (ohAT ST
qTHAT 8?2

A) TefelReser v
B) zdeie T

C) A= vt
D) ST TR FAT

87) Fhie TSI & ITHT T AT ZIAT 3T IHHT Fohle

and its migration to the surface of concrete is known g 9% YaaT I %I FAT Fgl ATAT 52

as

A) Creep

B) Bleeding
C) Workability

D) Compaction

A) FrT

B) saftteT

C) Fwifaferdy
D) Feeerd
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88) Generally, if two equally important roads cross 88) sTHAR WX, IE I THTT TT T HZAIU TS AT
roughly at right angles, then which of the following THHIU 9% U THL &l el &, AT (HHTEd | & i 4T

options is the suitable shape of central island?
A) Elliptical
B) Turbine
C) Circular
D) Tangent

e Hea AT T ST AHL 872
A) JTEFTTFTE
Tated

oY)

)
C) TT=TL
D) &sie

89) After drying, the ordinary cement exhibits the 89) T@w % T, ATLTIU HIHe T AT [UrerH T e

property of

A) Efflorescence
B) Shrinkage

C) Swelling

D) Bubbling

g?

A) 3T

B) Rrg=w

C) =T
DESECERERL

90) The percentage of di-calcium silicate(C.S) is 90) Mwfeifea & & form ®iHe # =TE-FHfcoraw frferre

maximum in which of the following cements?

A) Ordinary portland cement
B) Rapid hardening cement

C) Low heat cement

D) Sulphate resisting cement

(C2S) &1 Jiera sTfershaw grar g2
A) stfEad ardee Hie

B) ¥fue grefer #ide

C) & gt HiHe

D) gethe YRR HiHe

91) As per IS: 1200(Part V)-1982, while measuring 91) IS: 1200 (VT V) -1982 & SETL, HTHTIT: HAT &
the formwork for a building in general, no deductions oI Fiae FT ATIT T, R AAFA T T AT %

shall be made for openings upto
A) 0.2sg.m

B) 0.08 sq.m
C) 0.1sg.m
D) 0.4 sq.m

forT 12 et T T2l it Srusft?
A) 0.2 sgq.m

B) 0.08 sq.m

C) 0.1 sg.m

D) 0.4 sq.m


Sunny
Sticky Note
None set by Sunny

Sunny
Sticky Note
MigrationNone set by Sunny

Sunny
Sticky Note
Unmarked set by Sunny

Sunny
Sticky Note
None set by Sunny

Sunny
Sticky Note
MigrationNone set by Sunny

Sunny
Sticky Note
Unmarked set by Sunny

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

GET IT ON
Google Play

92) The percentage elongation and reduction in area 92) T& T&q = &=l H TSI ST [HT0T ST FHH T 26T TOTAT
of a material is usually calculated to measure which STHTIT 9T F& % HIT & [OEH HI ATI = o it ST

property of the material?

A) Brittleness
B) Colour

C) Ductility
D) Toughness

£
A) ‘ﬁ?!(ﬂl
B) &

C) awaa1

D) qaedr

93) In a hydraulically most efficient trapezoidal 93) Us TSIl & & TaH FHIA U ASH AT HFIA
channel section, the ratio of the bed width to the depth & 3 T HTSTE & TEITS FT STTATT FAT AT 52

is
242
A)L
3

V3
2
6
C) E

2
D) E

B)

242
A 2Y2

94) A soil sample has a porosity of 40%. The specific 94) A2t & TF d¥qe it 40% TLLAT g1 S TZTAT F
gravity of solids is 2.7. The dry density of the sample Tafre [&ea 2.7 81 FFI FT [oF T7A HaaT T2

will be

A) 1.62 g/cm?
B) 1.40 g/cm3
C) 1.95 g/cm?
D) 1.82 g/cm?

A) 1.62 g/cm?3
B) 1.40 g/cm?
C) 1.95 g/cm?
D) 1.82 g/cm?
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95) According to IS: 800-2007, the lacing of a 95) IS: 800-2007 F SIHTY, HHET HFAT sl ATHT T
compression member is designed to resist total ATTET FTETU HKT AfALrer FLA % forw s 1 1< greft

transverse shear equal to at least

A) 1.5% of the axial force in the member
B) 0.5% of the axial force in the member
C) 2.0% of the axial force in the member

D) 2.5% of the axial force in the member

§ ST &0 8 &7 T8 & [ohefeh aeae 8?
A) 7T ¥ el T a #7 1.5%
B) ¥¥aT | AT a1 7 0.5%
C) HaZ § T &7 AT 2.0%
D) ¥ § el a1 &1 2.5%

96) A rare kind of failure considered in the reinforced 96) Yafed Fshie fESITEH § TF TAW THT [ (ST, ST
concrete design, that is the fracture of the reinforcing T3 TarfeiiT =1 1 heraT 8, TaIe(Iehe0T it I8a FH ATAT ®
steel, can happen with extremely low amounts of |TY T TAH & e JTAT BT THAT 52

reinforcements and under

A) Static loading

B) Point loading only

C) Uniformly distributed loading
D) Dynamic loading

A) =feF e
B) & TS ATTSIT
C) i fefigeges A

D) STHATH AT

97) The maximum moisture content of the soil in 97) Sifaera &, gt & stfersas T#T T ATAT STt I qTAT
percentage, at which further reduction in water =t ATAT # ¥ stfers et | ET & F=7HT & AT F FHT
content will cease the decrease in volume of soil T ®IRIT FT AT, AHAT I FFFT T F AT ATAT 272

mass, is generally known as
A) Shrinkage Limit

B) Swelling Limit

C) Liquid Limit

D) Plastic Limit

A) st forfare
B) wafer forfae
C) =ifere ferfire
D) wrrfeea forfae
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98) In an assumption made in the Bligh's Creep 98) foar &t a =I<T | T T U &TI0T & AT IT
Theory for design of impervious floor for sub surface Hdg 418 % .‘l?"'i e a9 & festred F fom

flow, the hydraulic gradient <TE3 =
A FT T AT FATS TH T
A) increases throughout the impervious length of the ) T AT . €
apron B) H¥AAT % ATELH TeT | STIACLIH TeT ol AT FAeaqT g

B) decreases from upstream side to downstream C) TS T Srrarerfar TS ¥ 7T H g T =T
side of the structure D) T T T o1 e qF T weer €

C) is always zero only in the middle of the impervious
length of the apron

D) is constant throughout the impervious length of
the apron

99) The Reynolds number which is used to predict 99) ¥ATeE® HEAT ST Tg TATAHTT AT % foIT S

whether the flow will be laminar or turbulent, is STt & % YaTE ATHATAT 2qcie g, Fohere SRATLAT

inversely proportional to 2T 8?2

A) Kinematic Viscosity A) 93 e eaTaar

B) Velocity of Flow B) WaTg &1 awT

C) Characteristic Linear dimension C) hfRare sramy Fit fAeregorar
D) Fluid Density D) 74 &7 e

100) In case of a composite bar having equal length, 100) THTT FAFATE ATl T FEATIE FTL o o1, FEATTINRE
the total load on a composite bar is equal to T I Tl AT (oheoh ara grar g2

A) sum of the loads carried by each different A) S FoNT-T qaTef GTXT A ohU TT ST T TR

materials B) ik S-S T T gIRT ag {30 70 ST & J0T
B) inverse of sum of the loads carried by each T A HH

different materials C) T STT-3TRT aTe FIT A T3 70 913 o TNT
C) square of sum of the loads carried by each Gl .
different materials D) I SFerT-SAerT HaTd 31T g 6 T Aret % A
1

D) square root of sum of the loads carried by each

different materials
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Question Paper No: 51949 20
Answer Keys
1. 31.A 61.A 91. D
2. 32.D 62 92. C
3. 33. 63. 93. D
4, 34. 64. 94. A
5. 35. 65. 95. D
6. 36. 66. 96. D
7. 37. 67. 97. A
8. 38. 68. 98. D
9. 39. 69. 9. A
10. 40. 70. 100. A
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